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GBI g I H gHSH
Understanding of shape and space
YIF—1 HHBIT BT AT BT & —
The measure of right angle is -
(@) 30 @) 60° (@) 120° () 90° ( )
ge—2 " & TE JTEiml H S SO B USEIM TN I gA B0 RqE
FHHIOT B w9 H forRay 3+3=6

In the given figures, identify all the angles, and write them in the form of acute
angle or right angle -

A D

B C E F
AR (i) 3 amafr (i) J
In figure (i) In figure (ii)

DI LADIIT

Acute angle Acute angle
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& M D T
Understanding of the Number system

ye—3 f=falRaa & § a9 e a9 & — 1
In the following, which option is true.
(31) 28506 > 28605 (d) 25806 > 25808
(F) 26580 < 26850 (T) 20658 > 22568 ()

-4 < QU U FFAl & WE A TAG EM B GG HIGQ AR TAF T
& 9Ee feu v dfed § el / Tora forftar — 2+242=6
Check whether the statements given below are true or false and write true or false
in the bracket given in front of the statement.

(i) =T 20005 BT =T H T TOR g oy B ()
Number 20005 is written as two thousand and five in words

(i) TRET 36375 H AP 6 FT WIFIT ATH 6000 2| ()
Place value of digit 6 in number 36375 is 6000.

(i) T R BN g Al Bl i@l § 70500 forad £ ()

Number Seventy thousand five hundred is written in digit as 705000,

y3—5 e v i # orifea 9nT @1 A U9 g9Hea wu ferRag 142=3

In the given figure, write the fraction and decimal form of the shaded area.
71 ] 1z
/ ~ /!
/

(i) =T TT Fraction form.. ...
(i) SIMeTd ®Y Decimal form

y—6 e folas ot &1 ga e — 3+3=6
Solve the following questions.

(i) AT A 9R ¥ 6 HieX ofEl YRI WNel | 39 98 9R Hefedl d
e died! § df 9hF B [Had diex o= =4 fFerft ?
Bhavna purchased 6m long rope from the market. She divides the rope equally

among her four friends. How much long rope will each get?

(i) FRTIU B TP Had g4 @ fold 15 Hed HUsT dnev of 0 &l 2
FE B forw w5 fvae Aiex Fue 91 sngwgdar Br ?

Narayan wants 1.5 meter cloth to stitch one shirt. How much meter cloth is
necessary to stitch 2 such shirts.
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wfshareii & T
Understanding of the basic mathematical operations
ye—7 foredl W &1 @vd ofd § — 1

(@) 3T T IS (3) =g @1 o

(@) d@e T IH (®) w0 aid ()

The extreme digit of Number is -
(A) Unit's digit (B) Ten's digit
(C) Hundred's digit (D) All digits ()

ye—8 fARaer ff & Towe Sa & | 3
Find the product by Nikhilam method -
12x14

Solve the following
(i) afe FrER Q@ SR T F1 (S Afdd $1 fHar 550 Y 81 a1 15
afdaal &1 faeran faem g ?

If the fare of one person from Nohar to Jaipur is Rs 550. Then what will be the

fare of 15 persons.

(i) SIS & UT 984 Dol & qf a5y 99 U fhe oo @l & ?

Nevraj has 984 bananas, then find how many dozen bananas does he have ?

Tﬁ—wﬁgﬁq&a@ﬂwWﬁrﬁmﬁaﬁamﬁﬁw—wmm
= 6

Find the greatest number which is exactly divided by 36 and 54 fully.

yIq—11 FrAfeRad Y91 B 8 PHIroig 2+3+3=8

Solve the following questions.
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(i) B g I foiay —

Write the missing digits.
7 6
8 7

4 5 7

(i) 3122, 8050 TR 738 & ANT BT —
Find the sum of 3122, 8050 and 738

(iii) 99 & U 12500 WYY ¥ IEA 2500 WO @) FHARE wEE qen
8000 ®Y @ AR #F WG & , qawll S U o w9
A9 T 7
Naman has 12500 Rs. He purchased sewing machine for 2500Rs and
washing machine for 8000 Rs. Find how much money is left with him?

O B T
Understanding of Measurement.

geI—12 goid 7 ¢ el F@a ¢y v vo U9 g e @ 4@ ¥ @R 3
i e ¢ B9l go U Ui fheium & 9@ | WEl | SHD
U 39 ey BUY Vo YW T B AT T TE fHa iy FHR AR
T off ? 3
Sujal purchased ¥ Kilo rice of 4% Rs o per kilogram and R kilogram sugar for
2z Rs §o Paise per kilogram. Now 2% Rs 90 paise is left with her .Then find
how much money she took with her in the market.

Sy D Vi L R i R e O oW O S ORIt T S ST P
g¥i—13 3 el ¥ o fha fffe & € — 1

(&) e0 ffve @) 120 fAfe

() 180 e (=) 150 fafre ()
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How many minutes are there in 3 hours.

(A) 60 minutes (B) 120 minuter
(C) 180 minuter (D) 150 minuter ()
y3—14 F=ARaT st & S0 /39 | BY A UgEY — 3

Identify the following statements in the form of true/False.

(i) Tafe o1 Ioc § 9gom & forw fAfSe o1 60 &1 917 20 &

(Fa / Irea)
To change minute into seconds we divide minute by 60  (True/False)
(i) 1 99 ¥ 3600 WHS BN & (T / o)
There are 3600 seconds in | hour (True/False)
(iii) e "ver 15 AT & SvEY g 2| (T / arv7ca)
%2 hour is equal to 15 minute (True/False)
gei—15 Raw ®IFEl @1 gfd Fifog — 1+1+1=3
Fill in the blanks
(i) 1500 UTH = EIPIG]
1500 gram = kilogram
(i) 3%TPeTOm™ = pic
3Vakilogram = ... gram
(iiiy fHeinm 3oE ST IH gEE S gem d faw
H O T 2|
To change kilogram unit to gram unit we multiply by,
GI—16 9T & H A 9 H e sy -
Match Part 'A’ with Part 'B' 3
HAET—3A A T—4
Part 'A’ Part 'B'
() 1 fearRR (A) 10 fHeHeR
| Kilometer 10 milli meter
(i) 1 AR (B) 1000 #Hiex
I meter 100 meter
(i) 1 T=mEe (C) 100 HemHEx
I Centimeter 100 Centimeter

U3—17 & JUAIHR BIEIBH g o=rE 8 Hiex g e 7 9y & 398
IER W 7= g9 & IR R — 4+4=8
One Rectangular Photo frame is of length 8 meter and breadth 7 meter . on the
basis of this answer the following questions

(i) =9 BITBH ¥ T 9 BIel FT aFEe S S |
Find the area of photo that can be placed in this photo frame.
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(i) SH JTAPR PRIBH & IR AR APl P ggl I &, T arell
TR B Tl oIS TG DITT |
A wooden strip is to be fixed around the rectangular photo frame. Find the total
length of the wooden strip to be fixed around the photo frame.

TITAN 7 AAIIS oo iiniiviitsiidiniois oo s it 5 i s S s oo S LS i 4
F99—18 1000 fefeliey & v & & — 1
(@7) 2 &R @) 3 @R
(|) 1 eiex (@) 4 ofex ()
1000 millimeter is equal to —
(A)2 litre (B) 2 litre
(C) 1 litre (D) 4 litre ()

TI—19 U & U e H 15 ex I AW 81 3750 X o B forw TH A
fram e wliest oy ? 3
One cane of oil contains 15 litre oil. How many such canes are to be bought for
3750 litre oil.
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Tl BT Ue=E g Y+ & gas

Data Handling and Understanding of patterns

y39—20 ¥ fRT v e T I T9sy —

Extend the following patterns given below-

- 1

@ =

-

s et e es e

@ 44

y3—21 feu v de5f & anren g Brm —

The next term in the given pattern is -
14916, i

(a1) 27

Ye-22 UIgY & R @ UH ¥ e arel agel &1 9gy
IR ety fhar 9 = yeR & el @ g Jie 3, 9 A

UFR & —

Piyush observed the vehicles passing by Piyush's house in one hour and moted

the number of various types of vehicles, which is as follows

@) 13

q UF HC dF

e P YPR | AR AEfPd | FR |9 | 5P
el B Gl 9 6 | 3|5
Type of Vehicle Motor cycle | Car | Bus | Truck
Number of Vehicle 9 6 3 5

g9 3Afdpel B A B0 70 U6 F Wy 9 | ey |

Show these datas in bar chart in graph.

()

6
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